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1. tan10 tanl5 tan75 =?

A.AV3 B.1/2

C.V/3/2 D.1

2.sin (90 -9)

A.Sin 6 B.-sin 6

C.cos 0 D.-cos 6

3.secH =13/12 aal coto sRIEY %—
A.5/12 B.5/13

C.12/5 D.13/5

4. AFIARAT H @ I cosec 0 F TG ?
A.cos 0/sin 0 B.1/sec©

C.1/sin O D.sin 6/cos 0

5.3 tan 0 =8/15 &, aY cosec O HT AT § -
A.17/8 B.8/17

C.15/17 D.17/15

6. (1+tan B+sec 6)(1+cot 6-cosec 0)="?

A.-1 B.O

C1 D.2

7.tan30 .sin30 .cot60 .cosec30 =

A.1/2 B.1/3

C.1/4 D.1

8.secO =?

A.1/cos 6 B.1/sin ©

C.cos 6/sjn 0 D.sin 6/cos O

9. cot(90 - A) =

A.sinA B.tanA

C.cotA D.FIS Agr

10. sin59 /cos31 &T AT § -

A.0 B.1

C-1 D.-2

11. 9 2sin26=3,dr 6 TR & -

A.30 B.45

c.o D.90

12. If& 0=60,aY sin O + cos 0 T AT BT —
A.2 B.1

CV3+% D.HIS Agr

13. If¢ sin 0 =v/2cos G,Fﬁ sec 0 T HTd %‘ -
A3 B.vV3

C3/2 D.2\3

14. I tan 0=3/4 gAY sin O FT AT & -
A.2/3 B.4/3

C.3/5 D.-4/5

15. cos(90 - A)=

A.cotA B.sinA
C.tanA D.secA

16. cosl cos2 cos3 ........... cos90 =
A.0 B.1

C.-1 D.2

17. I sinB=cos0,ar 0 fFEd RET & ?
A.45 B.30

C.90 D.60

18. sin18 /cos72 =

A.O B.1

C.-1 D.2

19. cosec 45 T AT ¢ —

A2 B./2

c.1/2 D.1

20. tan65 /cot25 T AT & -
A1 B.1/2

C.-1 D.O

21. cosl cos2 cos3 ........... cos180 =
A.-1 B.1

Cco D.%

22. cot60 FHT AT gITI-

A3 B.1/v/3

C.1 D.0

23.9f¢ 2c0s30=1,aY 0 T &-
A10° B.20°

c.50 D.30

24. IfE secA =cosecB =13/12 dd (A+B) & HIT
%— _

A.0 B.>90
C.<90° D.90

25.7f¢ fanelt Brsger ABCH AU LB §
Al cotC T AT & -

AOQ

B.1
C.2
D.3
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